Seat No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING- C to D Bridge Course Examination WINTER 2018

Subject Code: C300001
Subject Name: Basic Mathematics

Time: 02:30 PM TO 04:00 PM
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Each question is of 1 mark.

Enrolment No.

Date: 07-01-2019

Total Marks: 70

4. Use of only simple calculator is permitted. (Scientific/Higher Version not allowed).

5. English version is authentic

No. | Question Text and Option. U« i< [Ascul.
logz27 =_____
1 A | -3 3
" | C. 1 1
3 3
logz 27 = _____ 4lA.
N A | -3 3
" | C. 1 1
3 3
If logy 64 = 3 then x =
9 A |4 4
| C. 1 1
_ 4 _ 4
¥l logy 64 =3 ¢lddl x =
2 A |4 4
" | C. 1 1
4 4
If log, N =1then N =
3. |A. |N aV
C. |a 0
ol logg N =1¢1dl N =
3. |A. [N aV
C. |a 0
log2 +log3 + log5 =
4. |A. |logl0 log30
C. |log40 3log10
log2 +log3 + log5 =
¥. |A. | logl0 log30
C. |log40 3log10
logl xlog2 * log3 * log4 * log5 =
5. |A. | logl5 0
C. |log120 15
logl xlog2 * log3 * log4 * log5 =
A. |logl5 0
C. |log120 15
u,
6. | 4log2 — 3log3 =
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, 8
A log§ log 72
C. 16 log(—1)
log27
4log2 — 3log3 =
A. 8 log 72
<. log§
C. 16 log(—1)
log —
%827
If log,;m == then m =
7 3
AL 1] 2
C. |3 4
If log,;m == then m =
o 3
A1 2
C. |3 4
log(x*y®) =
8. |A. | 3logx + 2logy 2logx + 3logy
C. | 6logx + 6logy 6logxy
logx?y)=___
¢. |A. | 3logx + 2logy 2logx + 3logy
C. |6logx + 6logy 6logxy
loglc 00001 =
9. |A. |4 —4
C. |[1000 0.0001
loglc 00001 =
« |A |4 —4
C. |[1000 0.0001
log 32 +~logl6 =
10. |A. |2 log 2
C. |log16 1.25
log 32 +~logl6 =
q0. | A. |2 log 2
C. |log1l6 1.25
-4 3|_ _ _
If|x297 = —1 then x =
A -9
11. 3
C. 19 29
3
o |7F 3= -1 ddl x =
x 7
A |29 9
9. 3
C. 19 29
3
1 0 0
0 1 Ofisa matrix .
0 1
12. "A T Row Zero
C. | Column Unit
1 0 0
2.0 1 ofx __ albsy
00 1
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A A (sR) B. |y
C. | d®™ D. | visy
If Aisasquare matrixthen A— AT is matrix
13. | A. | Symmetric B. | Skew symmetric
C. | Diagonal D. | Column
ofl A ARY Al cldl A — AT UslzAl AR5 211,
3. [A | AMd B. | [Qifd
C. | [l D. | xda
If Ay, and B,y then order of matrix AB is
14. |A. |3 %2 B. [2x3
C. |3x1 D.|3x3
5L 05 Agy, 2l By HI2 AB <l 581 IR
Y. |A. | 3x2 B. [2x3
C. |3x1 D.|3x3
0 -6 4
The matrix | 6 0 5f|isa matrix.
15. —4 -5 0
A. | Symmetric B. | Skew symmetric
C. | Diagonal D. | Column
0 -6 4
6 0 5[ DIVER
u, | l=4 =5 0 )
A | @ B. | [4:iMd
C. |[@sa D. | :d&t
_[-5 3 o
If A= [2 _4]thenade—
A |5 2] B. [[-4 -2
16. 3  —4l [—3 -5
C. |[75> 2] D. |[[-5 -2
—3 5—4. 3 —4
_ [~ 31 dl adid —
o4l A [ 5 _4] sl dl adjA =
A. -5 2] B. | [-4 —2
s 3  —4l [—3 -5
C. |[[5> 2] D. [[-5 -2
—3  —4] 5 7 L3 —4]
x+y =71_ - 2 a2
. If [ 1 3 [1 X y] then x* —y* =
A (-1 B. |1
C. |5 D. |6
aa [*TY =[] ] G-y =
L9 —— L x=y
A | -1 B. |1
C. |5 D. |6
If Az[;] and B =[3 4]then A+B =
A. | Impossible B. |[4 6]
C. 4 D. | [11]
18. [6]
ol A=[]on B=[3 4]dndl A+B=
1. 2
A | as a0l |B. [[4 6]
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C. [4] D. [ [11]
6
For matrix A ifA™! exist ,then Ax A™! =
A | A B. | I
19. [C. [aT D. | adj A
Abs A 12 A7 21Rded HAdl S dl AX A7 =
z. |A | A B. | I
C. |at D. | adj A
For matrices Aand B,(BA)™! =
20. |A. |B71471 B. | AB
C. |BA D. | A71B7?
20, | A0lsl A x4 BHI2 (BA)™! =
A. |B1471 B. | AB
C. |BA D. | A71B7?
If Aszys and By, then number of elements of AXBis___
21, | A |12 B. |6
C. |8 D. |10
4 Az W By SAAL A X BAlasiledval a2
QUL [A |12 B. |6
C. |8 D. |10
IfA= [g _41] then |A?%| =
A 11 -6 B. [ 121
22. 118 13
C. 4 1 ] D. | 55
9 16
If A= [g _41] then |4%| =
A [l -6 B. [121
e 18 13
C. 4 1 ] D. | 55
9 16
3 1 =5
For matrix A= |2 -4 0 ],the cofactor of 7 is
23. 8 7 -6
A. 10 B. |13
C. —13 D. | —10
3 1 =5
abs A= 2 —4 0 |4l 7dlAguiaud &
3. 8 7 -6
A. 10 B. |13
C. —13 D. | —10
IfA>—A+1=0then A"l =
24. |A. |A—-1 B. |[A+1
C. |[I-4 D. | A2
ol A2 —A+1=06Mdl A7t =
A |A-1 B. |[A+1
W.|C. |[I-A D. | A72
’: If A= [2x4— 3 ;Cii is symmetri matrix then x =
A 3 B. |2
C 5 D. |4
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x+2

[ 4 . . . _
If A= [Zx 3 x41 is symmetri matrix then x =
RUTA 3 B. [2
C. |5 D. | 4
IfA=[2 3]and B = [_31] then AX B =
26. |A. |3 B. | [3]
C. 2 3] D. |8
-1 3
i A=[2 3]=d B=["]dud axB=
e |A |3 B. | [3]
C 2 3] D. |8
-1 3
If matrix A is non singular matrix then
27. |A. | |A]=0 B. | AT =A
C. [|A|#0 D. | AT =—-A
orL AlBls A AL 205 i dl
Q. |A. |4l =0 B. AT =A
C. [|Al#0 D. | AT = -A
-3 21_[-2 4 _
1fx+[55 =1 ;] then x = -
A |- 6 B. | [-1 -
28.
8 113 18] [—3 —4
C. |[[1 2 D. | Does not exist
N 2 4
7 - = - 3\ N =
GXLX+£567] [8 11]L.H ¢ . i
A - B. | [-1 -
e 2 13l =
C. 1 2 D. | 4349
3 4
o — degree.
5
29. [A. 210 B. | 216
C. 240 D. | 270
61
~ = degree.
RE A | 210 B. | 216
C. 240 D. | 270
1 <1) _
cos™ ()=
3. |A | I B. |7
2 4
c. |7 D.| T
61 3
-1 —
o (5
A | T B. |7
2 4
3o.|C. | D. |7
6 3
1 1
If tanx = 5 and tany = 3 then tan(x +y) =
3L FA T B. | v3
2
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C. i D. |0
\/E
-~ 1 ~ 1 ~ ~
¥l tan x = 5 uUd tany = 3 glddl tan(x +y) =
A |1 B. |V/3
2
Sttt D. |0
V2
B+C
For AABC ,Sec( > ) =
A. A B. A
32 sec (3) sin (3)
C. (A) D. (A)
cosec > cos >
- B+C
AABC Wiz ,S€C< > ) =
A. A B. A
3. sec (E) sin (E)
© Jeosee(3) > Jeos (3)
cosec > cos >
T
If > < 0 < m,the trigonometric ratio which is positive is
33. A. tand B. | cot@
C. sind D. | cos6
-~ T ~ =~ -~ =~ -~
ol = < 0 < 1 i dl Bt iz Bt 69
33- A | tand B. | cotd
C. sind D. | cos@
c0s?18 + cos?72 — tan?45 =
4. |A. |1 B. |0
C. |2 D. | -1
c0s?18 + cos?72 — tan?45 =
37. | A 1 B. |0
C. |2 D. | -1
3m
Sec|—+ 9) =
35 2
A —SecH B. | Secf
C. —CosecO D. | Cosect
3w
Sec|—+ 9) =
3u 2
"1 A. | —Sech B. | Sech
C. —CosecO D. | CosecO
If cosf =0 then cos26 =
36. |A. | =2 B. |2
C. | -1 D. |1
o4l cosf = 0 SlAdl cos20 =
A | =2 B. |2
3 e D. |1
sin17%c0s28° + cos17°%sin28° =
37. |A. |1 B. i
\/7

6/12




C. |0

sin17%c0s28° + cos17°%sin28° =

A |1 i
39. \/i
c. |0 1
2
sin?A — cos’A =
38 A sin2A —co0s24
e 1 —sin2A
sin?A — cos’A =
3¢ A sin2A —cos2A
1 C 1 —sin2A
If tanf = — and 180° < 6 < 270° then secf =
3
39 | A |2 >
5 4
C. 5 3
5
o4l tanf = — i< 180° < 0 < 270° ¢iA Al sech
3¢ A |3 5
) 5 4
C. 5 3
4 5
Sln2371 — sin?7 ==
2 2
40 A. 1 1
' V2 V2
C 1 1
242 242
237 1 in27 1
Si - — - =
2 Sy
A. 1 1
o. — E——
v 2 2
C. 1 1
242 242
The principal period of 2sinx cos x is
41. | A. | 2 T
C. 3 2
2sinx cos x < Hv4 BUAAHIA 91,
¥a. | A. 2T T
C. 3 2
cos(A—B) +cos(2A+B) =
A. 2cos3AcosB 34 A+ 2B
2c0S — COS
42. 2 2
C. A+ B
2c0Ss — coSsA 2c0s2A cos
2 2
cos(A—B) + cos(2A+ B) =
¥ | A. 2cos3AcosB 34 A+ 2B
2cos 7 cos >
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: . A+ B
¢ 2cos 7cosA D 2c0s2A cos >
For cyclic quadrilateral ABCD ,tanA + tanB + tanC + tanD =
43. | A. | tan(A+ C) + tan(B + D) B. |1
C. [tan(A+B+C+ D) D. |0
U5l AdrsiL ABCD W2 tanA + tanB + tanC + tanD =
A. | tan(A+ C) + tan(B + D) B. |1
¥3. C. |tan(A+B+C+D) D. |0
. 7T - 7T - 7T . n - —
sinsin_ sinsino sinm = :
A. 3 B.
44, £ >
2
c. | 1 D. |0
\2
. 7T " 7T " 7T . 7T - —
sin-sin sinsino sinm =
A V3 B. [1
¥Y. > 2
c. |1 D. |0
\2
T
If tan™1x + tan™ly = > andx >0,y >0 then xy=
4. A To B. [ 1
C. 105 D. |«
-~ T -~ ~ ~
sl tan"1x + tan"ly = 5 W x> 0,y>0 slddl xy=
WA o B. [1
C 0.5 D. |«
3 4
sin™1 (Z) + sec™?! (§> =
46. |A- |0 B. [T
4
C. | D. |«
- 3 4
sin™1 (Z) + sec™! (—) =
ye |A [0 B. [~
4
c. | D.|&
2
sec™H(—V2) =
A | T B. T
47. 4 "2
C. |3m D. |
4 3
sec™1(—V2) =
A |T B. n
¥o. 4 4
C. |3m D. |7
4 3
T 4
48. | cos (E + sin™! §> =
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A. 3 B. | 4
5 5
C. |3 D. 4
5 5
T
cos {5 + sin 5)
ve | A |23 B. | 4
5 5
C. |3 D. 4
5 5
If vector x = —=3i — j + 2k then |x| =
49. |A. |14 B. |2
c. |via D. [ V=8
oAl dledl x = —3i —j + 2k ¢ladl x| =
ye | A | 14 B. |2
c. |via D. [ V=8
The unit vector in the direction of vector a = 3i — 2k is
A | 3i—2k B. 3i — 2k
50. V13
C. |-3i+2k D. —3i+ 2k
V13
Alza a =30 — 2k Al 2o HivisH ulea 3!
A | 3i-2k B 3i — 2k
Yo. V13
C. |-3i+2k D. —3i+ 2k
V13
If [, m,n are direction cosines of vector x ,then 1> + m?* + n? =
51 |A. | l+m+n B. |0
C. |1 D. | lmn
ol [, m,n ol Al x Alelssiddl g dl 2+ m? +n? =
ui. |A. |l+m+n B. |0
C. |1 D. | lmn
If the angle between two vectors x and y is 8 then sinf =
e A |lx-yl B. | |lx Xyl
C. lx X y| D.| XY
|x||y| x|yl
ofl Uzldl x Wt y QA4 vBl 6 sl dl sind =
A | |x-y] B. | [x Xyl
Uz, C. lx X y| D.| XY
|x||y| x|y
If vectors x and y are perpendicular to each other then
53. |A. |xxy=0 B. | x-y=0
C. |x-y=1 D. [x+y=0
ofl UElgll x ¥y UL dol GiA dl
us. |A. |xxy=0 B.|x-y=0
C. |x-y=1 D. [x+y=0
For unit vectors i,j,k i-(jxXk)=
A i B. |1
>4 C. |j D. | k
wy wisH ULl i,k W2 i-(x k)=
A i B 1
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C.|j [D. [k
Dot product of vectors (=1 3 0)and (3 -1 6)is
55. |A. |0 B. |6
C. |-6 D. |10
el (=1 3 0)@d (3 —1 6)Hi2 2uleaapusiz IV
yu. |A. |0 B. |6
C. |-6 D. |10
The direction cosines of vector 3i —j + 2k are
A | -3 1 2 B.| 3 -1 2
56 || V14 'Vid'Via NvATRGT:
C. -3 -1 2 D.| -3 1 =2
V14 V14 V14 V14 V14 V14
Aleal 3i —j + 2k Al Elsslnd-l £
A | -3 1 2 B.| 3 -1 2
us. Via V14 'Via Via 'Vi4 14
C. -3 -1 2 D.| -3 1 =2
Via V14 'Via Via V14 'V14
IfA=2i—3j+k and B=2j—3i+5kthen AXB =
57. |A. [17i — 13j — 5k B. | —17i — 13j — 5k
C. |17i+13j—5k D. | 17i — 13j + 5k
ol A=2i—3j+k 94 B=2j—3i+5kcldl AXB=
wo. [A. [17i—13j — 5k B. [ —17i —13j — 5k
C. |17i+13j—5k D. | 17i — 13j + 5k
Force F = 4k is acted on a body whose displacement vector is
58 Jj — k,then the work done is
A |4 B. | —4
C. |5 D. | -5
SO ULILUR B F = 4k Aldldl de 2281id2 j — ks dldd st 8
us. | A |4 B. | —4
C. |5 D. | -5
If x=(10,23),y=(1,-22)and z = (3,—2,—2)then x- (yXz)=____
50. |A. |56 B. | 108
C. 132 D. | 216
ol x = (10,2,3),y = (1,-2,2) ¥d z = (3,-2,-2)6l4dl x-(yxz)=__
e | A |56 B. | 108
C. 132 D. | 216
A force F = 3i — 2j + k acts on a particle and the particle moves from
the point A to B .If displacement AB = (—2,3,1)
60. | then the work done by the Force F is
A |11 B. | 36
C. |-11 D. |14
Vs sOUR AN F = 3i — 2j + k Alaldl d [6ig, A4l Byl wa e,
o, | A2 AU AB = (=2,3,1) 9. dl 934 51 =
A |11 B. | 36
C. |-11 D. |14
The area of equilateral triangl is whose length of each side is 2 meter
61 A. | V3 sq.meter B. | 3 sq.unit
| C. | 4sq.unit D. | V3 sq.unit
sy<il otloy<(l dotis) 2 2z sli ddl uustisy Bisiolg &z &
1. ;
A. ‘ V3 sq.meter ’ B. ‘ 3 sq.unit
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C. ‘ 4 sq.unit ‘ D. ‘ V3 sq.unit

Area of circle with circumference 44 cm is sg.cm.
62. | A. | 145 B. | 154

C. 451 D. | 541

A A uRa 44 AL G AL d< s 10LAH). 21y
e | A | 145 B. | 154

C. 451 D. | 541

Volume of a cylinder with radius r and height his

A. | nrh B. | nrth
63. | C |12 D. | mr*h

3

o<l Blordl 1 244 GAY h SIU ddlL 40UsIR < Eelgol Al .

e3. A |mrh B. | nrth
B O I S D. | nr3h
§T[T‘ h

In AABC,AB = 3,BC = 4 and AC = 5then area of AABC is Sg.unit
64. |A. |60 B. | 30

C. |12 D. |6

AABC Hi,AB = 3,BC = 4 d2l AC = 5.4l AABC < #3501 ___ AL %54 AW,
<¥. |A. |60 B. | 30

C. |12 D. |6

Area of a base of cube is 16 sq.cm., then the volume of the cube is___cm3

65. |A. |8 B. | 32

C. |48 D. | 64

215 UHAA AL UL < A0 16 2L HHLL 9. Al UHeA] 845N 23 A
sUu.|A. |8 B. | 32

C 48 D. | 64

Area of a circle withradiusr is
66. | A. | 2nrh B. | mr?

C. | 2nar? D. | nrh

r Bisll Alon ddod axso, &
¢ |A. | 2nrh B. | nr?

C. |2nr? D. | nrh

If perimeter of an equilateral triangle AABC is 24 cm .Then AB = ____
67. |A. |72 B. | 64

C. |4 D. |8

ofl 4Hotlsy AABC <l uzldldl 24 w4l sadiAB=_
e9. |A. |72 B. | 64

C. |4 D. |8

Volume of hemisphere with radius r is
68. | A gm‘?’ B. §Er3

C. |nr? D. | ar3

r Bieruaion 2490004 o ddsn &

A |4 B. 12
S, §T[T §T[T

C. |mr? D. | ar3

In AABC,m«B = 90%and AB = 6,BC = 8 then the area of AABC is ___sq.unit
69. |A. |24 B. | 30

C. |48 D. |72
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AABCHi, msB = 90°3i< AB = 6,BC = 8 ¢l dl AABC < &350 LuisH 21A

e | A |24 B. |30
C. |48 D. |72
Rhombus is the shape whose sides are

70. | A. | Equal in measure B. | Not parallel to each other
C. | Perpendicular to each other D. | Unequal in measure
AHOALsY Adrsil (L ot olisy S

Q0. | A. | HHI- dous-il B. | 2iuuid2
C. | uwuzdo D. | 2441 doud-l

*hkkhkkhkkkikkikkkikiikik
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